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OMTHHMUHX ZHAS =& 400,000
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511-03 Jl= 19,600 23,200 A 3,600
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o 144,200
Al 6,407,994
AAtZOl A A5 Y AMEA 8,573,610 8,486,795 86,815
= 2,800,000
o= 122,600
Al 5,651,010
AMZO X 2,617,980 2,393,200 224,780
201 et | 109,540 15,700 93,840
01 AR 22l ] 9,540 15,700 AN6,160
OA4Z0 SLATVSNY MRS HH+Y
70,000 * 5 x 23] 700
OAAZ20 23200 YOl AI EEH| 8,000
OB ZSARESRUH SEAF G &4
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03 A2 G HI 100,000 0 100,000
OAa2Z0 22t gl E2LA X9 ALY 100,000
202 o4l 5,900 5,000 900
01 2L | 5,900 5,000 900
OANBANAEY ARFF oyl
700,000 = 7H 4,900
OMEZ AMHBAR =X 0H| 1,000
306 23 500,000 400,000 100,000
01 542 500,000 400,000 100,000
OAaMBosHdN=a 8H2 500,000
307 2iz2to| & 1,992,540 1,972,500 20,040
02 QIZ2HA AAIE E X 142,540 90,000 52,540
OAaMZ20 AHIESESHA 14,000
OAMZB0l AM ILH 9,000
OAatZ20l 2IASHE 111,540
OAAZol 2zio10t31e 2E MUl A 8,000
08 OIXIE & 2 1,850,000 1,862,500 A 12,500
Oaaz2o s4i= A& 1,850,000
-0 XE2E 2 66,000,000,000& * 2.5% 1,650,000
—HgeEALE
40,000,000,000& * 1% * 50% 200,000
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Oxaze M3 2 W= X 6,350
-E2 @9 MH 55,000& = 300H 1,650
-2 s ME 470 * 10,0004 4,700
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401 Al HIZ 201 I 634,000 102,000 532,000
01 A& HI 634,000 0 634,000
OEXAZel FFHIT BSIBAE 2=EISAM 634,000
230 ESXNJAEEH 24 224,000 224,000 0
308 XXM SO A 224,000 224,000 0
N 3JN2SUHUe3AEAE AR 224,000 224,000 0
ol =X AZ20 SEAY 224,000
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01 At 22l 14,150 14,196 A48
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307 21201 A 90,000 90,000 0
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oA AR LH(EX) 2,800,000 0 2,800,000
= 2,800,000
301 LEd = 2,800,000 0 2,800,000
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Al 120,000
02 22t 2 AL EZ (O TH ) 240,000 120,000 120,000
O2a3 272 JLSIMLAMS 240,000
< 120,000
Al 120,000
A JMun=s 8,000 8,000 0
< 2,600
Al 5,400
201 LBH2E| 8,000 8,000 0
< 2,600
Al 5,400
03 & At2 I 8,000 0 8,000
OdHus =< 8,000
-JI2us 70,0003 » 80Al2t 5,600
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Al 3,780
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& 8,000
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& 8,000
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02 QIZHAAAIRE E X 40,500 45,000 A4 ,500
OAXNEEH =203 Ne&Ad XN
(Z20HA A 30 AN 40,500
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201 et d| 20,790 20,790 0
01 A2t 2| H| 3,750 3,750 0
O2£+=202 oz s22H&
1,000& = 2,000% 2,000
OZ20Z2 HAl. T 22 KB4
350,000 * 50 A 1,750
03 HAI2 G HI 17,040 17,040 0
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OZaAl N DYEE MARE BAa23
100,000 * 89 800
HSAE ZB2E U3 N3 398,558 347,512 51,046
= 4,000
Al 394,558
HEANE B 18,300 18,600 A 300
201 et | 14,200 14,200 0
01 A2t 2| H| 14,200 14,200 0
OFSAR 018 22 B+ HMA
55,000 * 2004 = 43| 4,400
OFEANE 08 222 H&
150& * 4,0000H * 23| 1,200
OFEANE 2F2a4E3H 282 M
100& * 4,0000 * 23| 800
ORSAE B3 AL
250,000& = 2% * 103 5,000
OFEANZE 22U e &8 22
2,000& * 11,4004 2,800
202 044l 2,100 2,400 A 300
01 2L I 2,100 2,400 A 300
OFSESANE 483 d2FX0H]
700,000 = 3™ 2,100
203 & 2 =&t 2,000 2,000 0
03 Al ZH =X 2= XH| 2,000 2,000 0
OFSAZE OAHE AIHFAN HR2FXH| 2,000
HEAZE OJHE X& 88,300 90,000 A 1,700
201 gEt24d| 54,000 60,000 A 6,000
03 A2 G HI 54,000 60,000 A 6,000
ONSAE 43 O|HE A} 54,000
—ABH)| AEAE 4G O|HE A} 18,000
—olEt)| MEAE 43S O|HIE A 18,000
—NEAZE 45 8 A 18,000
307 QI2t0| ™ 34,300 30,000 4,300
02 QI2tAMAIE E X 34,300 30,000 4,300
OFSAZE 2483 XNSAY
4.,050,000& * 6IH Al & 24,300
ONHEANE HISAHEIA XNRAFS
2,000& * 5,000A4 10,000
Ss2ZE A 4 N 250,000 220,000 30,000
308 XAXIGHHM SO0l & 250,000 220,000 30,000
11 B 2SHUSEANE A 250,000 220,000 30,000




AN XSEEH
M NAZHME LS
& dSAE 2E e X (&)
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OHTAE 2322ZE ANE SHAY 250,000
AME3ISN XA 13,968 9,312 4,656
307 glz2+ol & 13,968 9,312 4,656
02 RIZFEA MM E X 13,968 9,312 4,656
O&R, SA,ASAIE AIZAIHR2H XA
(OHUI ™ XI&) ,656,000& * 3HAIE 13,968
HSAE SHTHSH ALY 8,000 9,600 A 1,600
< 4,000
Al 4,000
307 glz2+ol & 8,000 9,600 A 1,600
< 4,000
Al 4,000
02 RIZFE MM E X 8,000 9,600 A 1,600
OFESANZE B HE XIF  100,000& = 80 8,000
< 4,000
Al 4,000
SHEEANE BES NFAY 19,990 0 19,990
201 et 14,990 0 14,990
01 At 22l 10,670 0 10,670
O34 =2 0tAE I 100,000& * 17 = 43] 6,800
Ooadgs 0l 822 A
200& = 5,00001 = 23l 2,000
OBEE 018 B4 M
55,000& * 17004 * 23] 1,870
02 3323l 4,320 0 4,320
OFEES HIIAHUAH &2
180,000& = 10 = 12 2,160
OFYUE AN 22|
180,000& = 10HA = 12 2,160
401 Al I & 28I 5,000 0 5,000
01 A& HI 5,000 0 5,000
OFYE ANE2 |X E=Hl
5,000,000& = 1JH 4 5,000
HEAME AL 803 XA 81,120 339, 120 A 258,000
HEANZE AIE |X 2l 81,120 339, 120 A 258,000
201 2et24d] 31,120 29,120 2,000
01 At 2teltl 11,560 9,560 2,000
O3S M EH MEIF HAUI(HS
AE) 70,0003 * 39¥ x I 1,260
OFXSANE LAY (M)A HHx+22
150,000& * 3M & * 23] 900
OSEANE A2 AKX 2eld ¥ YA
2,000,000 = 40 A 8,000
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OEtiaiie XE AR ZA B3
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301 LEPEXF 28,208 15,120 13,088
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Ostltagd A S CHEE XA (MYIISE)
800& * 3001 = 86JHA = 12E 24,768
OHEIIALL AME 425 X8
10,0003 = 864 * 43 3,440
402 2I2H X201 M 6,000 0 6,000
01 It 2 A B (KM ) 6,000 0 6,000
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AHINESAIE =& 28,470 27,000 1,470
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01 At 22l 3,680 1,500 2,180
OLQl AHXANLNE Wi #5003 * 3,0008 1,500
OL0lA04 HolEns E2= M
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=g 70,000& * 798 = 23] 980
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O2HIXNESE H2 FLAH
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307 glz2+ol & 22,690 23,100 A410
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< 26,000
— AMHIXI& & 1,100,000& * 282MICH *» 20% 62,040
ATHEUHUHX SSE AL 796,022 1,055,443 A 259,421
= 484,930
Al 311,092
402 2I2H X201 M 796,022 1,055,443 A 259,421
= 484,930
Al 311,092
02 QI 2 A EZ (O TH ) 796,022 1,055,443 A 259,421
OATHMUHUX =28 X3 A 796,022
= 484,930
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201 Let249] 1,000 2,450 A 1,450
01 At 22l 1,000 2,450 A 1,450
OJtA otd e EE22 MZEH 2,0008 * 5005 1,000
202 oddl 4,900 4,800 100
01 = LH o4 4l 4,900 4,800 100
HARFAOH (MUK GRS, A THMEHHXIE)
700,000& = 79H 4,900
OlHXIZS 2el 101,400 101,400 0
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01 At 22l 1,400 1,400 0
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700,000& = 29H 1,400
401 Al HI K 201 I 100,000 100,000 0
01 A& HI 100,000 100,000 0
O33&A LED = WAl 100,000
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